EARAROBEEIERT — 2 N— IBISH —F

20145108250 (4) omEER4H

—ﬁ]ﬁ%ﬁc 2754 7R —% ‘ (X4&] # ‘ (@l — | & (&) 12000 &
[AE£] 1% :120,000 8  2#&:24,000 M  33%&:12,000 M  43%&:9,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- _ . B2 :15. — . - DS (B%RE
118]9 Sy M1Z—INLR "3 56_0¥ 1(1_5)1 22 879 ! (5_153; INRERE
L:TIVYA XTI R B:TS5A4 714742 2R b e ]
eiaEE :15. = . — 1&iEthE] (KGR)
2 4 yay .y F % 3 el 1(115)3 1-1 38.3 2 (4+934) b
R:ZFr> BU1I4SVELR E4HTT— L
o ft 3 | BERMEE 1:15.4 3-3 37.9 — 3 421 | 1REERD (GR)
3 6 tE7 54.0 (3/4) (+8) UZBBEA
:ZFATd=IK B:XAb=2TF1K HE77—L4
s 3 | HEElE— 1:16.6 5-5 38.5| — 4 373 | /NEAEAE (BERE)
47| 7| ¥ENTR 54.0 ™ wy |HEE
L:ANTINGR BT R4V v 7 el spie]
" o BERRE :16. - . — 12 AR (KR)
5055 FyuyINy E— 4 3 5@4_0 1(31/64)7 4-4 38.9 5 <4+327) SN 7
L:€r/s0704 BNERXRXTH—1— FHHEMS
o TP AT # 3 | EBRE 1:17.0 6-6 38.4 — 8 472 | B (&)
6|8|8|/tvE—NY 54.0 (1 1/2) 42) | REEET
L:hrn=Z— B:NAyE-XXyy b [ia=Ese]
- ATEiE :18. - . — FHE (KR)
7 3| A—n=157 4 3 =0 (191{8% 7-7 40.0 7 <4+613) R
R:TIRAFIEI B:RTVIEAT7F mE B
2 4t 6 | EHARRRE 1:18.9 8-8 40.0| — 6 391 |fBEFX (EEF)
8 2| ¥=773IVU~— *50.0 (1/2) 4o) | B K=2o7
Ry TEL2VF— B:x—v3aA =il B
— N Ra 3T i 19. - . - FEFZ (B
ol1]1|Fw=an= L] % 1 (159)7 9-9 40.1 9 :1253; ﬂdﬂﬂﬂ
L:€rsaoq4 B:I7YA4FIATIL HET77— L
® I—F—@EBIERL
13—-7-
23—7F—
T =35r= 4,9,6,5,7,8,3,2,1
41—F— 4,9,6,5,7,8,3,2,1
[ RN
B 9 130M 794K 4-9 120M & 4-8 130M &R 4-6-9 210
# B 9 1004 6-9 160M B E 4-9 170M EE 9-4-6 420M
4 1004 4-6 180H B H 9-4 210
6 140/

ABICOVWTRDTEEERROODE. TR LIV,




